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HE1TH 160 168 200 368|XEI3TH 379 481 486 967|ER7E1TH 139 127 148 275
#$BI2TH 119 129 141 270|Z=HT4TH 218 286 289 575|mR~7 E2TH 227 246 275 521
#HEISTH 152 154 185 339|s=HT 325 425 452 877|ER~7&E3TH 80 78 104 182
EHHE 268 231 304 535| P2 AT 567 614 718 1332|AEEHHE L 345 475 504 979
NBET 486 523 565 1,088 PG LET1TH 223 187 160 47| HEFA/K 177 222 259 481
AHT 211 224 251 475|128 E ERT2T B 113 130 112 22| BREFF 195 268 287 555
JuHT 247 304 302 606| P12 LEI3TH 364 367 417 784| BIEE AR 390 552 595 1,147
FFHIET 278 308 338 646| Ry E1TH 337 363 406 769| HAREFEF O 392 558 573 1,131
FEAET 325 357 394 51| Ry E2TH 228 294 271 565| HAREFFE £ 816 1,185 1,174 2,359
EM1TH 769 902 861 1,763| Ry E3TH 264 307 318 625| HAREPEE H 716 872 942 1,814
EW2TH 496 516 414 930|R7 EATH 198 221 263 484| BB FFEF < B 1,498 1,713 1,825 3,538
WERE1TH 165 207 176 383| R~ ES5TH 107 120 133 253K E 543 712 755 1,467
WE2TH 470 527 514 1,041 | Ry EEE 0 0 0 O|RERDE 975 1,262 1,256 2,518
WE3TH 217 172 246 A18|FRAT 661 798 837 1,635| REPDE 429 599 617 1,216
FEB1TH 210 208 218 426| RHEE 204 201 235 436| RIBEFEDE 584 807 822 1,629
FiEB2TH 1,031 1,159 1,258 2,417| KIRHET 171 198 233 13| RIEFREEE 316 292 426 718
FIEK3TH 369 395 400 795|m R IRAT 148 115 186 N1|EEFE—EE 238 243 295 538
FEB4TH 213 258 260 518| B HET 331 403 416 819| L Z &L 123 172 182 354
KEHET 270 273 322 595|#E R AT 799 894 908 1,802| £ 2 B3 H35 88 117 120 237
E3) 111 98 121 219| TEERHAT 141 155 169 324| L2 L& 130 205 190 395
= EHE 168 163 191 354|EEE P RiEE 460 339 504 843| Lz EHT 154 221 220 441
KEE1TH 244 264 274 538| &R 649 693 778 1,471 | £ Z b &t 367 524 523 1,047
K#FE2TH 322 383 391 774|881 TH 161 173 201 374| EZ2 BT 290 418 404 822
LTET1TH 373 384 404 788|#8/H2T H 353 453 472 925| L Z 4R 33 54 53 107
LHT2TH 406 396 465 861|#8/H3TH 172 197 225 422|FE RN 1,031 1,293 1,331 2,624
+HEI3TH 304 249 297 546|#8/H4 T B 340 412 453 8653 EM1TH 163 176 185 361
HiEE1TH 69 110 106 216|#88/E5TH 223 283 280 563|3f=Z2TH 350 435 404 839
HiEE2TH 162 196 217 M3 TERE 215 254 263 517|3Z#W3TH 607 537 711 1,248
HiEHEITH 81 85 109 194| FTEE1TH 168 181 165 346 |FE A 457 546 581 1,127
HiGEmE1TH 343 367 387 54| FTEE2TH 109 137 138 275 | PR R AT 175 223 249 472
hi5fE2TH 125 148 159 307|TRESTH 580 634 706 1,340 | FE A2 F AR AT 503 532 594 1,126
miEE3TH 396 364 348 112| FTEE4TH 56 54 73 127|134 230 237 287 524
higE1TH 174 188 198 386| TRESTH 276 305 321 626| KK 411 414 441 855
miEE2TH 68 96 98 194| FTEE6TH 85 90 85 175| KO %A 1 1 0 1
hi5#E3TH 4 4 8 12| EEE 1,150 1,406 1,456 2,862|YALSHESEI 125 111 14 125
SWME1TH 344 339 381 720 FE 1,440 1,750 1,833 3,583|YALSHEXR 247 147 102 249
BWE2TH 558 659 775 1,434| RES EEE 46 53 49 102| RN 2=t 0 0 0 0
EMAE1TH 337 384 417 801|#MEE1TH 0 0 0 0
=ifE2TH 272 370 405 115|AE2TH 392 521 533 1,054
=2iE1TH 239 285 283 568|#EE3TH 23 35 43 78
BWE2TH 68 83 87 170 Z1TH 227 283 308 591
=2 FE3TH 261 281 328 609|;E2TH 198 234 240 474
=idt1TH 242 271 312 583|i&3TH 482 544 590 1,134
adt2TH 341 333 347 680|;FE4TH 293 332 361 693
hlrT1TH 383 429 417 846| AHESE 240 235 186 421
hET2TH 226 221 217 438|1EHHT 1 0 1 1
FET3TH 170 203 175 378| FiEmT 1 1 1 2
hBT4TH 96 95 94 189{EH & 871 723 912 1,635
EET1TH 280 344 397 T4 | BRIES S ET 299 279 348 627
ER2TH 340 456 471 27| RIEHE 177 190 223 413
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